
Quick Maths Test Year 3   Week beginning 29.6.20      Name ________________                         GROUP 2 
 

Monday Tuesday 
 

Wednesday 
 

Thursday Friday 

 
7 x 3= 

 

2 x 3= 
 

 
5 x 2 = 

 
11 x 1= 

 
4 x 1= 

 
50 + 20= 

 

60 + 30= 
 

 

70 + 10 = 
 

15 + 50= 
 

10 + 70= 

 

34 + 10= 
 

21 – 10= 
 

 

34 – 10= 
 

94 – 10= 
 

52 – 10= 

Circle the odd numbers 
 
23    34     44     2     1 

Circle the odd numbers 
 
93     8      4     12     5 

Circle the odd numbers 
 
6    8     19       90     99 

Circle the odd numbers 
 
98      5      2     12      5 

Circle the odd numbers 
 
89    7     8     18       4 

 

17 + 10= 
 

18 – 10= 
 

 

14 – 10= 
 

12 – 10= 
 

14 – 10= 

Circle the even numbers 
 
6     17      3     19     2 

Circle the even numbers 
 
12     3     29     10       9 

Circle the even numbers 
 
12      13     14    24    5 

Circle the even numbers 
 
9    17      38     4     3 

Circle the even numbers 
 
4     29     48        5      7 

 

75 + 12= 
 

38 + 3 +2= 
 

 

12 + 8 + 1= 
 

11 + 5 + 9= 
 

16 + 4 + 9= 

 

72 + 9= 
 

42 + 10= 
 

 

84 + 10= 
 
76 + 10= 

 

54 + 10= 

 

38 + 9= 
 

60 + ____ = 100 
 

 

40 + ___ = 100 
 

80 + ____=100 
 

50 + ____= 100 

Write 4 in words: 
 
 

Write 3 in words: 
 

Write 9 in words: 
 

Write 5 in words: 
 

Write 9 in words: 
 



Quick Maths Test Year 3   Week beginning 29.6.20      Name ________________                         GROUP 2 
 

 
10 more than 27= 
 

 
10 more than 23= 
 

 
10 more than 13= 
 

 
10 more than 33= 
 

 
10 more than 19= 
 

 

41 + 7= 
 

4 x 10= 
 

 

10 x 5= 
 

10 x 5= 
 

5 x 2= 

 

33  + 5= 
 

80 – 3= 
 

 

78 – 4= 
 

45 – 2= 
 
67 – 1= 

 
10 less than 87= 
 

 

10 less than 87= 
 

 

10 less than 87= 
 

 

10 less than 87= 
 

 

10 less than 87= 
 

 

19 + 2= 
 

1 of 20= 
2 

 

1 of 4= 
2 

 

1 of 8= 
2 

 

1 of 10= 
2 

 
22 + 19= 

 
1 of 20= 
2 

 

1 of 2= 
2 

 

1 of 6= 
2 

 

1 of 20= 
2 

 

54 + 9= 
True or false? 

4 x 1 = 40 
 

True or false? 

3 x 5= 16 
True or false? 

5 x 4 =20 
True or false? 

3 x 4= 12 

 

44 +7= 
 

2 x 5= 
 

 

3 x 50= 
 

4 x 50= 
 

5 x 50= 

 

12 + 8= 
 

50 - 4= 
 

 

50 – 40= 
 

50 – 20= 
 
50 – 50= 

 

19 + 8= 
 

12 – 2= 
 

 

14 - 3= 
 

 

19 - 2= 
 

 
18 - 8= 
 

 


